Chemistry Revision: CalculationsMastery Matrix Points
Link changes in mass to the word equation for a reaction 
Calculate the relative formula mass of a substance 
Calculate the atom economy of a reaction 
Calculate the percentage yield for a reaction 
Calculate masses from balanced symbol equations


Key Knowledge

Law of conservation of mass: 



When does it look like mass goes down in a reaction, even though really it is conserved?




How to calculate relative formula mass:




Equations: 

Atom Economy = 



Percentage yield = 



Massunknown= 

Understanding and Explaining
1. Calculate the mass of magnesium in this experiment. 
[image: ]
2. Explain why the mass appears to decrease during this reaction. 
magnesium + hydrochloric acid  magnesium chloride + hydrogen

3. Calculate the atom economy for making hydrogen by reacting zinc with hydrochloric acid: Zn + 2HCl → ZnCl2 + H2


4. Calculate the percentage yield of an investigation that expected to produce 495 tonnes of product A, but only produced 400 tonnes.


5. [bookmark: _GoBack]In a reaction, magnesium and hydrochloric acid are reacted together.  If 48g of magnesium is used, how much hydrochloric acid is used in grams?  Start with a balanced symbol equation.
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EXPERIMENT #2
REACTANT(S) PRODUCT(S)
Magnesium  +  Oxygen Magnesium Oxide
7 +  160g > 403g

(2) Based on the Law of Conservation of Mass, predict the minimum amount of magnesium
that will react with all 16.0 grams of oxygen to produce 40.3 grams of magnesium oxide.

EXPERIMENT #3
REACTANT(S) PRODUCT(S)
Magnesium  +  Oxygen Magnesium Oxide

122g + 80g 2g

(3) Assuming that magnesium and oxygen will react completely with one another, predict
the mass of magnesium oxide that will be produced

EXPERIMENT #4

REACTANT(S) PRODUCT(S)





